SUPPORT UNITS
219 3




MBA(ZE# BY){F &) EE
Motor Bracket MBA (Narrow Type)

| |
N I kel |~—iE AR
Index RRIEME Alignment Q ﬂ | EOE | MBA10-A
\ Q I Eccentricity I MBA10-B
&
- — | | MBA12-A
4-pSHEE IEEOQ -
Motor bracket MBA (narrow type) 4-9S il @ counter bore depth @ @) - (- | MBA12-B
MBA (TEEN B EEEEE ooooveeeeeeeeeeeee ettt ettt e et e et et e et e ete e eteeeteeeteeeaeeeeeeeaeeeaeeeneeeeteeeaeeereenaeean 3 & & | & —= I
w IS -
Motor bracket MBL (low narrow type) I IT | MBAZ20-D
MBLIUERTEENLEL)EEEIEE  coveeieeeee ettt ettt et e e et e e et e s st e e sateeesaaeessateeesnteeesnaeessnaeeaas 4 T ‘ | 1 | MBA20-DP
Motor bracket MBB (hidden type) ‘P : :
MBB(PITREL)EENEE  oeooveeeeee ettt et ettt ette ettt e e e eae et e etveeeteeeteeeateeteeeteeeareeteeeaeeereeereeeaeean 5 0 | | e e e e — =
B
Support unit EK
ECEAUEEYEERD v 6
. RLE
Support unit EF Eccentricity
EF B (B STHEIAD) oottt e et eeetreeanes 7 B
Support unit BKN ] ~
BENZEF(FTEIETEMR)  cvvveeeeeeeereececreseeeeceesetesesetesetese st seseseseses et seses s s s s s enssesesessnssssssanenenas 8 T =
Q T a
Support unit BFN S IJ S
S R NI = ) RO 9 - — 1
. J ]
Support unit FKN 1 | ‘ .
FKN%ﬁU(ﬁZ}_‘E—"{EU) .............................................................................................................. 10-11 = B {7~ Unit : mm
Support unit FFN STAERE o
= = g!g T Support unit BsBHEE
RN TN S Ei I = ) TR 12 Nocke! NO somaon
Suppor’[ unit AK Fixed-side | Supported-side St
YN S N5 = RO 13 _ M3
MBAG/8-A 30 e 28 | 61 17 | 52 | 41 | 26 | 55|95 | 19 | 20 | 5 | 54 |ggg |[FKAOS| o |sas 27¢
Support unit AF MBAG/8-B 46 | M4 Fraos
AF BT (SZIEAD)  oooeee oottt et e et e et e et e e eean e e eetaeeentaeeenns 14 MBAT0-A ae | -
i 30 0.62 SGL 27C
Support unit SBK MBA10-B 46 =3
SBKﬂ%ﬁES‘Z}%@ ................................................................................................................. ]5'] 6 MBA_IO_C 381 66.7 M4 34 74 22 65 50 |325]| 6.6 11 24 20 5 0.66 FKN1O BFN1 0 SGL 34C
Support unit WBK MBA10-D M5 o5
WBKE! & B B oot e e e e — et e e aa——— e e e e et —— e e e e e ———t e e e e ——eteeearaeeeeseraaees 17-18 50 | 70 0.62
HEWEXEE VBA10.DP i SGS 34C
Support unit MBK MBAT2-A 45 | M3 _
MBKEL (FRAEBIEE)  oeeeeeeveeeeeeerseeeseeeeeeeesseeessesseesssseessesssseesssssesesseseesesssseseseseessssesessssseenenns 19-20 30 £ o7 SGL 27¢
MBA12-B 46
Recommended shaft end machining shape for Support Unit types M4
SEAEMRIT R oo B 2123 VBATZC [381]667| T | 56 | 74 | 25 |65 |0 |s25 66 |11 24| 20| 5 | | 07 |FKNIZ| BFN12 SGL adc
MBA12-D M5 65 | 0-66
50 70 SGS 34C
MBA12-DP M4 0.68
MBA15-C | 38.1 |66.7 | M4 82 24 73 | 0.85 SGL 34C
MBA15-D M5 70 | 55 | 35 | 6.6 | 11 5 0.86
50 | 70 84 25 74 SGS 34C
MBA15-DP M4 | 40 28 28 0.85
FKN15 | BFN15
MBA15-F | 73 |98.4 92 29 81 | 1.3
MBA15-E Mo 94 88 | 70 | 44 ) 85 14 30 6 | 82 |1.37 sas 450
70 | 90
MBA15-EP M5 92 29 81 | 1.31
MBA20-D M5 sz | 1.66
50 70 5 SGL 45C
MBA20-DP M4 K | 154
MBAZ20-F | 73 | 984 Me | 57 |113| 34 |88 | 70 | 44 |85 | 14 | 29 | 42 1.59 | FkA20 | BFN20 SGs 45C
MBA20-E 6 | 102]|1.61
70 90
MBAZ20-EP M5 1.62 SGL 45C

fi55E(Note) © 1.1 B IR EEFKA0BYSRRT, WRIEF BRI AZB A E X 2. FFKA, | LF BLFAR T Z X, 35mROLLCOS#.
(Can choose B angle bearings when use support unit with FKA20)  (If FKA, LF and LFA support units are required, please contact ROLLCO)

3



MBL({EFE B {FE) B MBB(A e 2 )15 &N &

Motor Bracket MBL (Low Narrow Type) Motor Bracket MBB (Hidden Type)
| |
" . | - =B R AR
RIEE Alignment ﬂ | s | MBL1012-A
@ | Eccentricity | MBL1012-B
+osiE TH0Q mo7 [ mgiggp . h i
4-@S orill ter bore depth - 5 i
Irill @Q counter bore dep @ D 1T ) i 7 | *)LIEE Alignment
T T w |18 | T~ BN A
Iy | © @
—= — 1
T e . oo v i
- i Q counter bore depth 1
l | @ &
P ] e e e e - - = = = W
B y v
Bz T
1E'L‘§ E\JE P
Eccentricity l\l/ll‘OtOI’
B
T Fiahas
] Coupling
N~
B * SR
g Support unit
+ i "
J an Ballscrew : ROE
| y Eccentricity
B/ Unit : mm O,
HIZE 25 _ o B ~
=30 Bt e A Ht =z (5] ':E T
Model No Suggest & EE - - 1 -
; # | Couling Assembly Way 8 T 8
Weight fo) T
(Kes) Y
MBL6/8-A 45 | M3 28 4~ Q_ ‘ g ]
FKAO6| LFO8 1 4~8 J
30 28 | 61 | 155 52 | 41 | 26 | 55|95 | 19 | 20 | 5 | 54 | 0.27 SGS 27C T PCD @W1 w |
Numb f hole : 4~8
MBL6/8-B 46 M4 FKAO8| LFA12 lumber of hole il <F7
MBL10/12-A 45 | M3 T | 056
30 s SGL 27C
MBL10/12-B 46 0.53
M4
FKA10| LF12
- SGL 34C
MBL10/12-C | 38.1 | 66.7 36 | 74 | 20 65 | 50 |325| 66 | 11 | 24 | 20 | 5 061 | 1ol LEaTS
MBL10/1 2-D M5 65 EfM/Umt I mm
50 70 057 SGS 34C SE#*"F:E
MBL10/12-DP M4 AIZE {ZF)EER~F Dimensions of Motor Bracket S e
=50 Hitehas
MBL15-C 38.1 | 66.7 | M4 82 24 73 | 0.73 SGL 34C Model No . . Suggest
EE#& i _ Coupling
MBL15-D M5 70 | 55 | 35 | 6.6 | 11 5 0.74 Fixed-side | Supported-side
50 70 84 25 74 SGS 34C
MBL15.DP M4 075 MBB20L-G 57 FKN20B BFN20H
40 22 28 Frats| T MBK15DF |BFN15+%420
73 92 29 115 LFA20 110 | 145 | M8 170|143| 48 [150|126| 75 |14 |20 |53 59|10 |146| 6.46 = SGL 65C
MBL15-F 98.4 Ve 81 | - MBB20-G 58 MBK17DF |BFN17+49
MBL15-E 94 88 | 70 | 44 | 85 | 14 | 30 6 | 82 | 121 SGS 40C MBK20DF BFN20H
70 90 MBB25L-S 130 167 | 141 51 . 8 . - SGL 65C
MBL 15-EP M5 92 29 117 L 159—114
81 MBB25L-G | 110 M8 | 63 48 |150|126| 75 | 14| 20| 53 623 | FKN25 BFN25 | SGL 65C
145 170|143 10
MBL.20-D M5 | 143 MBB25L-G-M 55 | 70 150| 5.9 SGS 65C
50 70 5 E SGL 45C
MBL 20-DP M4 1.41 P WBK25DF SFN25
WBK25DFD |  SBK25 | SAP-82C
VBL 205 73 | e84 57 | 113 | 30 |88 | 70| 42 | 85| 14 | 29 | 42 144 |Frazo| EF20 MBB30-H  |114.3/ 200 |M12 | 85 |230|189| 51 |200 170|100 18 |26|75|75|20|191| 14 SAP-94C
\6 LFA25 | o oo WBK30DF BFN30
30DFD |  SBK30
MBL20-E 6 | 102|147 ee
MBL20-EP ° - M5 SGL 45C fiEEE(Note) -
1.48 1.{E R 8 BEFKN20/ FKN 25 BUSERS, AIEF B e A2 B FE ih&

(Can choose B angle bearings when use support unit with FKN20/FKN25)

f#5E(Note) = 1 EFI ZIEEFKA0BUSERY, ARER AR AZBAEHK 2 WBMKA , LF RLIFARSIZZ R HEROLLCOGH.
(Can choose B angle bearings when use support unit with FKA20)  (If FKA, LF and LFA support units are required, please contact ROLLCO)

a4 5



EKRFI ( HBYEEM )
Support Unit EK

(fixed-side rectangular type)

25t e

EFRF ( BT )

Support Unit EF

(supported-side rectangular type)

Rl 1 Bl EEARE, Housing 1
Couple
/ > 2 Bii7& Bearing 140,71 set
| I ‘ 3 B 1R/ Holding lid 1
T 4T ot e
I b 4 fEIbRE . Collar 2
| Ly 1 B EEARE Housing 1
} \ 5 BhES,/ Seal 1(2)
2 BK Bearing 140,71 set
6 SHIEIMRME Lock nut 1
3 CEIIR,Snap ring 1
EKO06,EKO8
2-PX$EEF
2-@X drill M g
o
| N
! EF
} \ | [l I |
\ \
T | | = | |
T [ | A= I/
* L J Ll
Jlt T
L R B1
| | | | | 2-OXEBOVIEIRZ I
L b 2-X drill @Y counter bore depth Z I
" \
(EK05~08) :
EK10~EK20 S | 8L
L B
i . °p . 1O
| |
- [ [
2oxRE S . B T
2-PX crill [ [ Lo
| o o .
1 } rol Lo } } [
L ‘
b # 1
P
T X I B L
T

(EK10~20)

B/ Unit :

mm
BT 5E
o L1 | L2 | L3 B1 H1 Weigh
di Kes)
0.1

EKO05 5 165 55 185

B Unit : mm

g | 2 1 EREmE | EAcRmE | ER
0.1

Mode! No.

EF06 6 11 60677 S 06
EK06 6 20 55 22 35 42 25 21 13 18 20 30 55 95 11 M3 12 0.15 EFOS 6 14 50 32 26 17 25 26 38 66 11 12 60622 S 06 015
EK 2 7 2 4 2 2 2 17 2 2 X 1M1 12 M 14 0.26
08 8 3 6 > 3 6 ° 6 98 65 3 EF10 8 20 70 43 35 25 36 24 52 - 60822 S 08 0.33
EK10-1 1 24 29. 4 2. 21 2 2 6. - - M 1 .4
0 0 6 95| 6 |65 8 | 825 36 0] 52|65 8116 | 045 EF12 10 20 70 43 85 25 36 24 52 = 600022 S 10 0.32
EK10 10 24 6 295 6 70 43 35 25 36 24 52 9 - - M3 16 045
EF15 15 20 80 49 40 30 41 25 60 - 600227 S 15 0.38
EK12 12 24 6 295 6 70 43 35 25 36 24 52 9 - - M4 19 044
EF20 20 26 95 58 475 30 56 25 75 = 6204772 S 20 0.64
EK15 15 25 6 36 5 80 49 40 30 41 25 60 11 - - M4 22 056
EK20 20 42 10 50 10 9 58 475 30 56 25 75 11 = - M4 30 134



B par e

BKN

1 BhXEAREHousing 1
2 #i7X /Bearing 1481 set
3 B4R/ Holding lid 1
4 fE3bmE8.~ Collar 2
5 %}, Seal 2
6 SHEIMZNE,Lock nut 148, 1set

BKN3R7I ( FRIEER )

Support Unit BKN

(fixed-side rectangular type)

EERERE, EERERBLEMEBAS.
The standard product is no grease nipple, if required,
please advise in advance.

2-M
4-OXRBOV IR
4-X drill @Y counter bore depth Z B1 /// <>)\ P
\ 4-@d2
: % (Q option) M\/\7
T ™ 11.85
= | ]
= I
6 .
|

§m ?(«
Shaft
diameter

B/ Unit : mm

BFN10
BFN12 10 20 60 43 30 25
BFN15 15 20 70 48 35 28 40 38 18 54 55 66 11 65

BFENRZI ( F5RIZIZA] )

Support Unit BFN

(Supported-side rectangular type)

1 B EEARE  Housing 1

2 Bh7% /Bearing 1401 set

3 CEUER ./ Snap ring 1
2-OXSEFOYIEIRZ
2-X drill @Y counter bore depth Z B1

4-@d2

H1

B3/ Unit : mm

Rz ﬁgﬁé B1 o @ {EREHE | EACENER _%t
Moskl Mo d'a("ﬁ*er Bearing |Snap ring | ey
8 22 0.3

34 325 55 6.6 108 60827 S 08
34 325 18 46 55 66 108 15

600022 S 10 0.3
600277 S 15 0.4

Model No.
BKN10 5 295 5 22 34 325 15 108 5
BKN12 12 25 5 295 5 60 43 30 25 34 325 18 46 13 6 55 66 108 15
BKN15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66 11 65
BKN17 17 35 9 44 7 86 64 43 39 50 55 28 68 19 8 66 9 14 85
BKN20 20 35 8 43 8 8 60 44 34 52 50 22 70 19 8 66 9 14 85
BKN25 25 42 12 54 9 106 80 53 48 64 70 33 8 22 10 9 11 17 11
BKN30 30 45 14 61 9 128 8 64 51 76 78 33 102 23 11 11 14 20 13
BKN35 35 50 14 67 12 140 96 70 52 8 79 35 114 26 12 11 14 20 13
BKN40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 175

M4
M4
M4
M4
M6
M6
M6
M6

19

LT|L2|L3 B1 H1 C1|C2|d2 ef
0.4

18 M6 041
18 M6 058
30 M6 13
24 M6 1.2
37 M6 235
37 M6 333
37 M6 44
43 M6 68

BFN17 17 23 8 64 43 39 50 55 28 68 66 9 14 85 620377 S 17 0.75
BFN20 20 26 8 60 44 34 52 50 22 70 66 9 14 85 600427 S 20 0.76
BFN20H 20 26 83 74 44 48 52 64 - 70 - 9 14 85 600427 S20 1.02
BFN25 25 30 106 80 53 48 64 70 33 8 9 11 17 N 620527 S25 143
SFN25 25 32 128 89 64 51 76 78 - 102 - 14 20 13 620577 S 25 -

BFN30 30 32 128 89 64 51 76 78 33 102 11 14 20 13  6206ZZ S 30 1.94
BFN35 35 32 140 9% 70 52 8 79 35 114 11 14 20 13  6207ZZ S 35 2.25
SFN40 40 32 140 9% 70 52 8 79 - 114 - 14 20 13 620827 S 40 -

BFN40 40 37 160 110 8 60 100 90 37 130 14 18 26 175 620827 S 40 3.3



10

FKNO5-FKNOS8

FKN 7 ( BEEER )

Support Unit FKN
(fixed-side round type)

BAEH e

1 BREAEE Housing 1

2 B /Bearing 148/ set
3 1R/ Holding lid 1
4 FEIFRE. Collar 2
5 B3t/ Seal 1
6 SHERME/ Lock nut 148/ 1set

4-PXIBEFOYIEIRZ
4-X drill @Y counter bore depth Z

@D g6

L L) L (L2)
% % paina L) (OB e
o D
I N N [EZIE H
= —1 98 3 _ ]
(S s S ]
= ' e
ol jJ
T1 E T2 }7 E
LRITEA LRT3EB

Mounting method A Mounting method B

B/ Unit : mm

AUz B EEFEA EEEB 58
il Shaft L H = E D 6 AP CD Mounting method A | Mounting method B X v 7 T :
diameter g Weight
5

FKNO5 165 6 10,5 185 20 :88(2)7 34 26 26 55 35 5 3 34 65 4 M3 11 008
-0.007
FKNO6 6 20 7 13 22 22 o, 36 28 28 55 35 65 45 34 65 4 M3 12 01

-0.007

FKNO8 8 23 9 14 26 28 o 43 35 35 7 4 8 5 34 65 4 M3 14 015

FKN 27 ( BAEEMR )

Support Unit FKN
(fixed-side round type)

R EAREE, Housing 1

Bfi& / Bearing 148/ set
B, Holding lid 1
FEIFRE./ Collar 2
B33/ Seal 2
SHEIR0B,/ Lock nut 148/ 15et

PEMBHE AERERBRAENEBAR.
The standard product is no grease nipple, if required, please advise in advance.

FKN10-FKN30

4-PXIBBFOYIEIRZ
4-X drill @Y counter bore depth Z

L Ln

*(Q option) L (LZ)

@D g6

PCD
oA

|
Il

Tzi E

itk
Model No.

FKN10
FKN12
FKN15
FKN17
FKN20
FKN25

FKN30

RRITIEA

Mounting method A

Shaft
diameter

12

15

17

20

25

30

RRTTEB

Mounting method B

B Unit : mm

-0.009

[ EEY HESiEA 2ERE B2
e
10 0 52 42 42 5 8 4 M3 16

27 10 17 295 34 oo 75 5 85 6 4 - - 023
-0009

27 10 17 295 36 o002 54 44 44 75 5 85 6 45 8 4 M4 19 - - 02

32 15 17 36 40 0090 63 50 52 10 6 12 8 55 95 6 M4 22 26 M 039
0009

45 22 23 4T 50 goos 77 62 61 11 9 14 12 66 11 10 M4 24 305 MG O8I

52 22 30 50 57 (o0 85 70 68 8 10 12 14 66 11 10 M4 30 34 MG 102
0010

57 27 30 59 63 gy 9B 8 79 13 10 20 17 9 15 13 M5 35 395 M6 143

75 0010 197 95 93 11 12 17 18 11 175 15 M6 40 465 M6 232

2 2 1
623032 6 -0.029

1



FENRZI ( BT HEA )

Support Unit FFN
(Supported-side round type)

B84, one

1 BhFEANEE/ Housing 1
2 B}% /Bearing 1481 set
3 CHIINIR /Snap ring 1
4-PXEBHFOYIBIRZ
4-X drill @Y counter bore depth Z

@A

@D g6

PCD

BN Unit : mm

HHE "
RIgE | s RN | ERCRnE | EE
il ...-.H... Snap ring | e}

-0.007

FFNO6 002 4 60622 0.06
-0.007

FFNTO 8 12 7 5 28 oo 43 3 35 34 65 4  608Z S 08 0.1
-0.009

FFN12 10 15 7 8 34 goo 52 42 42 45 8 4 60002Z $ 10 0.13
-0.009

FFNT5 15 17 9 8 40 go,. 63 50 52 55 95 55 60022Z S 15 0.2
-0.009

FFN17 17 20 11 9 50 gpor 77 62 61 66 11 65 62032Z 17 033
-0.010

FFN20 20 20 11 9 57 g0, 8 70 68 66 11 65 62042Z $ 20 043

FFN25 25 24 14 10 63 j8'8;8 98 8 79 9 14 85 620522 S 25 0.66
-0.010

FFNSO 30 27 18 9 75 g9 17 95 93 11 17 11 620627 S 30 1.03

12

AKZRFI ( FHRIEEMR )

Support Unit AK

(fixed-side rectangular type)

AK10~AK15 AK?20
BEESEHE EETEREATNEBAR.
A K The standard product is no grease nipple, if required,

2.M please advise in advance.

2-PXBEOYHIRZ
2-X drill @Y counter bore depth Z

|
|
} —
T T
|
T 1
|
< l
|
|
|
|
AK10~AK15
(L2) L3
AK10~AK25
35278, Part rame
1 BhiFEARE,/ Housing 1
2 8% /Bearing 1481 set
3 [E&4R. Holding lid 1
4 PSP, Collar 2
5 gt Seal 2
6 SHEIMRME,Lock nut 148/ 1set
AK20~ AK25

B,/ Unit : mm

ﬁm 7= E
gillky Shaft =8
e diameter L2 L3 B1 H1 C1 02 C3 eigl

AK10 10 6 295 43 M6 0.5
AK12 12 24 6 295 6 70 43 3 25 36 3 52 9 14 11 M4 19 - - - 20 M6 05
AK15 15 25 6 36 5 80 49 40 30 41 40 60 11 17 15 M4 22 - - - 21 M6 062
AK20 20 42 10 50 10 95 58 475 30 56 45 75 11 17 15 M4 30 22 10 - 24 M6 143
AK25 25 48 12 59 14 105 68 525 35 66 25 8 11 - - M5 35 30 9 24 58 - 192
13



AFZRGI ( FTEIZHEMA )

Support Unit AF

(supported-side rectangular type)

(AF10~20)
&R, rart e
1 Bh7& FEABE . Housing 1
2 &% Bearing 1481 set
3 CHIIIR /' Snap ring 1
2-PXIBEOYHIRZ
2X drill @Y counter bore depth Z
B1
\ ? |
\
‘ |
\ |
T Il T T T
‘ ‘ ‘
] |
| | } | | ! }
T | T
I T ‘ \
T ] c] B
. .
< } } | [
[ [
o [
o | .
L ‘ L
T T T T T
| \ b ‘
P
B

AF10 8 35

AF12 10 20 70 43 35 25 36 35 52 9 14
AF15 15 20 80 49 40 30 41 40 60 9 14
AF20 20 26 95 58 475 30 56 45 75 1 17
AF25 25 30 105 68 525 35 66 25 85 1 -

14

(Reo)
11 6082z S 08 0.36
11 600022 S 10 0.36
11 600222  S15 0.44
15 620422 S 20 073
. 620522 S 25 0.95

B L/ Unit : mm

ey | BB b | h fERsR | mACymE | B8
ol No, | ciameter | L H - H1 X Y z Bearing | Snap ring |
kel

20 70 43 25 36 35 52 9 14

SBKAY = 1] 2 7 15 B

SBK type support Unit
( heavy-load )

 SEAC H
(H option)

48, o e

1 B EEAEE, Housing 1
2 B Bearing 1#81 set
3 [E#R./ Holding lid 1
4 FEIBRE. Collar 2
5 #h3t,/Seal 2
5 SHIERRIE Lock nut T#B/1 set

SBK

B 8 8
ﬁ@@é@@ | 1 j@)@?@;@ﬁ@
I I
L1 L1
L L
DF#E& DFD#&

T2 EER S Dimensions of support unit

-
o Lo [ALB T L[0T o o] € Lozt x| v
89 53 6 71 18 160 57 130 155 40 18 26

SBK 25DF

25 51
SBK 25DFD 81
SBK 30DF 66

30 89 51 53 71 18 160 57 130 155 40 18 26
SBK 30DFD 81
SBK 35DF 66

35 96 52 54 71 18 160 69 130 155 40 18 26
SBK 35DFD 81
SBK 40DF 66

40 96 52 54 71 18 160 69 130 155 40 18 26
SBK 40DFD 81
fimEE (Note) :

18FERAA « BREMABPAFRI HIRBR60 TAC »
(Inside bearings use Japanese & Taiwanese P4 grade TAC 60 degree contact ball bearing.)
2. BRERECHE (BTKER) BEEERASASTMEBAS -

(The standard type is without H , if required please advise in advance.)

2] tlv]rlalH]
2 4 70 M6 10 M6

2 4 70
2 4 80
2 4 80

M6

M6

EEfL/Unit : mm

S F5im
Supported-side

SF25
BF30
BF35

SF40

15



L3 L

WBKEY = fa] & 2 15 B

FERLE H
WBK type support Unit H option)
c2|
( heavy-load )
=
Ci O O LT - - 3 - -
9 @ E
[
= | s o | B2 patree | Q|
F IR <t 1 Bl EEARE, Housing 1
Dimensions of shaft end 2 Bl ~Bearing 14871 set
3 B4 Holding lid 1
4 PSR, Collar 2
5 B3t/ Seal 2
6 SHEMRIE/ Lock nut 1#8,/1 set
| WBK
S @
cl | O O L1
@; Q =
L3 i AN ¥
DFD g - 104
SHEHEIE 1 B o 8 | 18 48 8 8
Lock nut IS
-MM.E 7 .-\\\\\\(\\\\\\\\\\/7/////// , 1
= AT =
% H 40X BT O HE 7 u

4-@X drill @Y counter bore depth Z
T
|
°
)
™

@ @ L1 L2 L1 ‘ L2
2D -
) | (Nt A L
Lo = K J N/ Lo i
| | | |
by ! [ A AL
| | | | DF# DFD# - .
. I ol Ha iz Unit - rom
LN
% ‘:___;‘ % % ‘H}._.}; i ?.E%,‘F; 22 EER<F Dimensions of support unit
|
SN an vt | d [ p[D1D2] L ]Lij2lAIWIXIY[Z]d] I [V][P[Q]H]
WBK 17DF 77 70 106 72 60 32 15 80 88 9 14 85 45 3 58 M5 10 M6
e 4 @ PCD BV WBK 20DF 20 70 106 72 60 32 15 80 88 9 14 85 45 3 58 M5 10 M6
Rk Ei(both sides) WBK 25DF 66 33
B WBK 25DFD 25 8 130 90 81 48 18 100 110 11 17 11 s7 4 70 M6 12 | M6
WBK 25DFF 9% 48
B AL/ Unit : mm WBK 30DF 66 33
i EABEIHE BARREE FEHE | sARRE g 5E WBK 30DFD 30 85 130 90 81 48 18 100 110 11 17 11 57 4 70 M6 12 M6
gﬁﬁ- Basic dynamic load rating | Permissible axial load Preload Axial rigidity | Starting toraque SEEOR0 =
Model No. Calkef) (kef) (kef) (keflum) (kef-cm) d L4 L5 WBK 30DFF 96 48
SBK 25DF 2910 4150 320 100 1.6-2.9 446 80 WBK 35DF 66 33
M25X1.5 45 2
SBK 25DFD 4700 8300 440 150 094 520 .. 104 WBK 35DFD 35 95 142 102 81 48 18 106 121 11 17 11 69 4 80 M6 12 M6
SBK 30DF 2980 4400 340 105 1.7-3 43 89 WBK 35DFF 9% 48
M30X1.5
SBK 30DFD 4850 8800 460 155 22~4 501120 1509 104 WBK 40DF 66 33
SBK 35DF 3150 5100 390 120 19-35 st e WBK 40DFD 40 95 142 102 81 48 18 106 121 11 17 11 89 4 80 Me 12 M6
M35X1.5
SBK 35DFD 5150 10200 530 175 25-46 5 22 53 107 WBK 40DFF 9% 48
SBK 40DF 3250 5300 400 125 2~37 46 40 92 %0 2% (Note) :
M40X1.5 == PANN =] SR=-1 ° o
SBK 40DFD 5250 10600 540 185 24~47 80122 | 515 107 1EERIRA A © BREREARPAFRDF ARER60 TAC

(Inside bearings use Japanese & Taiwanese P4 grade TAC 60 degree contact ball bearing.)
2BERECHE (IBTAE) » BETEERSAETHMERAS -

(The standard type is without H , if required, please advise in advance.)

16



4P dp Q PCD @V
M E (both sides)

6-pX % @Y $R Z PCD W
6-X crill @Y counter bore
depth Z PCD @W

15°
30°
\ 4P do QPCD @V
* * Ak (both sides)

11.85

8-0X % OV #R Z PCD oW
8-X drill @Y counter bore
depth Z PCD @W

A

B1RAd=30
Shaft diameter @d=30

5 4
© —
4 3 3 358 &
a8 g (SURSTIERS!

<

L1 [
L
DFFfE&
1o, EAEERFTE B RERFTE Bh75 RIS
ﬁzjaﬁ Basic dynamic load rating Permissible axial load Axial rigidity
Model No. ) (kef) (keffum)
WBK 17DF 2240 2710 220 75
WBK 20DF 2240 2710 220 75
WBK 25DF 2910 4150 320 100
WBK 25DFD 4700 8300 440 150
WBK 25DFF 4700 8300 640 200
WBK 30DF 2980 4400 340 105
WBK 30DFD 4850 8800 460 155
WBK 30DFF 4850 8800 680 205
WBK 35DF 3150 5100 390 120
WBK 35DFD 5150 10200 530 175
WBK 35DFF 5150 10200 780 240
WBK 40DF 3250 5300 400 125
WBK 40DFD 5250 10600 540 185
WBK 40DFF 5250 10600 800 245
fi#EEE (Note) :

3 RIPAREE F LIS R -
18 (Dimensinons with sk mark can be used for dust cover and damper installation.
About Its correct position, please contact Rollco)

B1E@d=35
Shaft diameter @d=35

i
I
!
;
!

@D3

L3

FHELRNE

Lock nut

BRI

Dimensions of shaft end

BEhH4E SHEMRNE
Starting torque Lock nut

1~1.9 M17X1 37 18 124
1~1.9 M20X1 40 18 2
1.6~2.9 3.27
2.2~4 M25X15 45 20 381
2.8~5 4.46
1.7~3 3.18
22~4 M30X1.5 50 20 3.7
29~52 4.3
1.9~35 3.79
2.5~46 M35X15 55 22 445
3.3~6 5.21
2~3.7 3.65
24~47 M40X1.5 60 22 427

3.4~6.2 5

B/ Unit : mm
sk

Dimensions of shaft end
17 81 23
20 81 23
89

25 104 26
119
89

30 104 26
119
92

35 107 30
122
92

40 107 30
122

MBK B 5 1a1 & X7 15 FE
MBK type suppory Unit
(heavy-load)

B84, e

1 B3 EEZARE / Housing 1
2 7% Bearing 1481 set
3 [E&4R. Holding lid 1
4 FEIFEEE. Collar 2
5 #hEtSeal 2
6 SHEHRIE /Lock nut 1#8.1 set

Motor Bracket

1 2 3 \S
4
I
@{ (]
a7 T
i - i i .
=T i
| e
O
| a
S MCCSHIE ] 3
ERQRNESESE
!
2 B !
o e
L1 L2 B L -
L
DFfE& DFF#EA
B2/ Unit : mm
fillE ZEEER S Dimensions of support unit
2
e _d D D1 | L |1 12l Al W/ X | Y Z | H
MBK 15DF - G 15 58 79 50 24 145 79 66 6.6 11 7 M6
MBK 17DF - G 58 79 50 24 79 66
17 145 6.6 11 7 M6
MBK 17DFF - G 65 88 80 56 88 74
MBK 20DF - G 58 79 50 24 79 66
20 145 6.6 11 7 M6
MBK 20DFF - G 65 88 80 56 88 74

fis&E (Note) *
1ERIRAA © BREBREABRP4FRR AEBR60 TAC -

(Inside bearings use Japanese & Taiwanese P4 grade TAC 60 degree contact ball bearing.)

19



8-¢Xx $&ZF oY $#&F Z PCD @OW

8-X drill @Y counter bore
depth Z PCD @W

i
Qs
Q
|
A L3
— ——
1S pd=<20 SHE MRS
Shaft diameter @d=20 Lock nut
L L3 L L3

-— 3 I L
- L s
l L4 L4 —
DF#fym R~ DFF s R ~F
Dimensions of shaft end Dimensions of shaft end

BB / Unit : mm

— BRBERAT WARRER | EEWE | WAREM | BEEE iﬁlﬂg""a L
iﬁ Basic dynamic load rating Permissible axial load Preload Axial rigidity |Starting torque LOCk L Welght Rimensionsiciishe e
il el i R S R CE TR

MBK 15DF 2240 2710 220 1~1.9 M15X1 - 1.44 15
MBK 17DF 1~1.9 1.55
2240 2710 220 MI7X1 37 18 17 69 23
MBK 17DFF 3620 5420 440 145 1.8~3.3 2.3 101
~ 1.52
MBK 20DF 2240 2710 220 75 1~1.9 M20X1 20 18 20 69 3
MBK 20DFF 3620 5420 440 145 1.8~3.3 278 101

20

sEEEm M IR~ (BEEME) ... BKNZ#Y
Recommended shaft end shape( Fixed-side)
for Support Units types BKN

@B h7

BKNZY
Type BKN

EBEAI/ Unit : mm

itk RIRIRAF EOME BHERIME DFBIRAL EHRE

Support unit model No. Ballscrew shaft OD Shaft support portion OD Metric screw thread Length of Sleeve

BKNZ Type BKN d D B E F M S C
BKN10 12/14/15 10 23%% 5 36 15 wmiox1 12 5.5
BKN12 14/15/16 12 29098 10 36 15 Mmi2x1 12 5.5
BKN15 18/20 15 23098 12 40 20 wmisx1 12 6
BKN17 20/25 17 29998 15 53 23 Mmi7x1 17 7
BKN20 25/28 20 9919 17 53 25 Mm20x1 15 8
BKN25 32/36 25 9919 20 66 30 M25x1.5 20 9
BKN30 36/40 30 9919 25 73 38 Mm30x15 25 9
BKN35 45 35 9932 30 82 45 M35x15 26 12
BKN40 50 40 9912 35 94 50 M40x1.5 30 15



EEEmin I TR~ (BEAD) .....FKN,FKAEK AK
Recommended shaft end shape ( Fixed-side)
for Support Units types FKN,FKA,EK,AK

=

[l

M
~ : E ]
Q S |
F E
c_. _C. C . C
=H =
HOEOE ORI
— -
iGN L P Eo S
] =

FKN,FKAZY
Type FKN,FKA

b

Support unit model No.

il

Type FKN,FKA

FKNO5

FKNO6
FKAO6
FKNO8
FKAO8

FKN10
FKA10

FKN12
FKA12

FKN15
FKA15

FKN17

FKN20
FKA20

FKN25

FKN30

22

EKE AKZE
Type EK Type AK

EKO5 -
EKO6

EKO8 -

EK10 AK10
EK12 AK12
EK15 AK15
EK20 AK20

- AK25

FIRMEARERIME

10/12
12/14/15
14/15/16

18/20

20/25
25/28/30
30/32/36

36/40

FKN,FKAZY
Type FKN,FKA

SumHER MK
Ballscrew shaft OD | Shaft support portion OD

(@)

12

15
1

~

2

(@)

2

ul

3

o

1
o
o
-
U
® o ~ » W

1 1
OCONS
o o
—_ —_
~ ~

—_ —

[\ o

-0.017 13
-0.020 17
-0.020 20

-0.020 23

23
28
32
36
36
48
59
64
76

73

20
23
25
30
38

DIBIZHL

Metric screw thread

M
M5x0.5
M6x0.75
M8x 1
M10x1
M12x 1
M15x1
M17x1
M20x 1
M25x1.5

M30x1.5

EK,AK
Type EK,AK

B/ Unit : mm

EHRE

Length of Sleeve

S C
7 3.5
8 5
10 5.5
12 5.5
12 5.5
13 10
17 10
16 11
20 14
25 9

ITINI

EEBIGIM TR~ (Z1EME)
Recommended shaft end shape( Supported-side)
for Support Units types FFN,EF,BFN,AF

..... FFN,EF,BFN,AF

FFNZ

Type FFN

FFNO6

FFN10
FFN12
FFN15
FFN17
FFN20
FFN25
FFN30

izt (Note)

A5

Support unit model No.

EFZ!

Type EF

EFO6
EFO8
EF10
EF12
EF15

BFNZY

Type BFN

BFN10
BFN12
BFN15
BFN17

RERIRAR S
Ballscrew shaft OD | Shaft support portion OD

AFE

Type AF

AF10
AF12

AF15

EF20 Note(BFN20) AF20

BFN25
BFN30
BFN35
BFN40

: SFESH I T EBFN,

AF25

8
10
12/14/15
14/15/16
18/20
20/25
25/28/30
30/32/36
36/40
40/45
50

o
ISS
onl .y
oo
=+ ! I PR - e &
o
= L1
G +0.14
-0.00 +0.2
F 0.0
E
i
E 5 *
\
\
FFNE FFNZ EF BFN,AF
Type FFN Type FFN Type EF,BFN,AF

ShImER I ME

17
20

25

35

40

D E B = G
008 9 57 68 08
:8:892 9 57 6.8 0.8
0008 10 76 79 09
0008 44 96 915 1.15
:8:8?? 13 143  10.15  1.15
0008 46 162 1345 115
-0.019 19(16) 19 15.35(13.35)1.35
“0010 20 239 1635 135
0010 21 286 1775 175
001 22 33 1875 175
0012 23 38 1995 1.95
23



Rollco Taiwan
No. 28, Lane 125, Da-an Road
Shulin District 238
New Taipei City, Taiwan
Tel. +886-2-8687-2726
Fax +886-2-8687-2720
www.rollico-tw.com

Support Units 2014-05

A EER D BRA A
AL IR 238 K 22 2% 125:45:285¢
T EH . 1886-2-86872726
{HHE.: +886-2-86872720
www.rollco-tw.com

ROLLCO

SPECIALIZED
ON LINEAR MOTION

InAl ERNERQ A



